26.2.21
L/O: To add different weights

Blueberry      Strawberry   Apricot         Apple           Peach          Banana    Water melon
[image: ]
        1g               2g                3g                4g                5g                10g             10g

	Blueberry + strawberry=
	1g + 2g=
	3g

	2 strawberries +1 banana=
	2g+2g+10g=
	

	1 peach + 3 apples=
	
	

	2 bananas+1 blueberry=
	
	

	2 strawberries +2 bananas=
	
	

	1 watermelon + 1 strawberry=
	
	

	2 peaches + 1 apricot=
	
	

	3 apricots + 1 banana + 1 apple=
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	30g
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